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clear all 

close all 

  

window_lower=8.0e-6 

window_upper=10.0e-6 

  

A =xlsread('pre.csv');    % pre-compression signal 

TimeA=A(3:size(A,1)-1,1); 

VoltA=A(3:size(A,1)-1,2); 

figure(1) 

plot(TimeA,VoltA,'b') 

hold on 

B =xlsread('post.csv');    % post-compression signal 

TimeB=B(3:size(B,1)-1,1); 

VoltB=B(3:size(B,1)-1,2); 

plot(TimeB,VoltB,'r') 

  

VoltA(isnan(VoltA)) = 0; 

VoltB(isnan(VoltB)) = 0; 

if (TimeA(2)-TimeA(1)) <= (TimeB(2)-TimeB(1)),   

    VoltA = interp1(TimeA,VoltA,TimeB,'cubic');   % interp A 



[ \

    TimeA = TimeB; 

else 

    VoltB = interp1(TimeB,VoltB,TimeA,'cubic');   % interp B 

    TimeB = TimeA; 

end 

ind1=find(TimeA<window_lower); 

ind2=find(TimeA<window_upper); 

VoltA1 = VoltA(size(ind1):size(ind2)); 

TimeA1 = TimeA(size(ind1):size(ind2)); 

[val loc] = max(VoltA1(:)); 

t_ref = TimeA(loc+size(ind1,1)-1)   % peak of uncompressed signal 

VoltB(1:size(ind1)-10) = 0; 

VoltB(size(ind2)+10:end) = 0; 

VoltB(isnan(VoltB)) = 0; 

figure(2) 

plot(TimeA1,VoltA1,'b',TimeB,VoltB,'r') 

  

X1=normxcorr2(VoltA1,VoltB); %compute cross-correlation between vectors  

X1=interp(X1,100);      % upsampling 

[m,d]=max(X1); %find value and index of maximum value of cross-correlation 

amplitude 

dAns = d/100+1-(length(VoltA1)-1); 

tShift = (size(ind1,1) - dAns) * (  TimeA(2)-TimeA(1) ) 

figure(3) 

plot(TimeA1-tShift,VoltA1,'b',TimeB,VoltB,'r') 
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